AP R RENFET 5 (RI5) B 5 B #

SH5E4R118 (ABER)
Bz ENFEHAME: 2029 b

(% L EBEREET)
ey _ HFE R ke) 1% #YFE taxtER|
a—Fk A R A8 gyF | Exmel | Buke | SEE | wEe | e | se | e | zem)
130100(/=W 2 A biToesY 7,045
130100(7ZWZ A FiE 3,940 3,940 10 1,404 1,080
130100(/=W 2 A HE 510 510 10 907 648
130100(7ZWZ A RI%G 510 510 10 864
13034003 ICA LA biToesY 14,480
130340[;¥ICA LA = 14,130 14,130 10 2,160 972
130400[Z1E 5 biToesY 1,894
130400| 1% S 55 1,490 1,490 10 2,916 1,566
1305007zl > = biToesY 1,605
130500(7=lF > & = 1,015 1,015 5 2,484 972
130600({ A Z A biToesY 1,457
130600( A Z A = 1,250 1,180 5 3,240 864
131100183 biToesY 25,005
13110018 3% I 14,505 14,355 15 1,728 648
131700(F v XV biToesY 45,980
131700(F v XY 2 24,600 19,520 10 2,668 1,350
131700 v X HE 17,130 16,660 10 2,106 1,102
1318001 > A E be 1,754
131800{IF > NAE K 599 360 240 0.2 146 76 90 65
1318001 > A E & 900 896 0.18 140 119
131910|F & biToesY 2,234
131910(Fh & KB 25 25 0.5 702 302
131910|F & il 1l 350 350 1 648 162
131910(Fh & = 1,138 1,133 10 2,916 1,188




131950(B & et 2,680

131950|H A & I 960 960 6 1,728

131950(B & BSE 1,350 1,104 3 1,296 432
133400(L % % e 12,999

133400(L % 2 FE 7,400 4,170 10 2,376 1,512
134100|#A/1 e 14,290

134100 |#8/1 S 2,040 0 1,410 5 2,160 1,404
134100|#A/1 &) 60 0 60 5 4,428 3,780
134100 |#8/1 iR 320 0 270 5 2,160 1,620
134100 (&A1 = 1,000 0 700 5 3,402 2,970
134100 |#8/1 =l 8,800 0 5,720 5 3,996 2,484
134100|#A/1 BRS 1,420 0 1,420 5 1,620 1,069
134200|/ M et 1,820

134200|FE M —a1-Y—-5vF 1,820 1,820 10 5,724 4,860
134300 (%6 7 R 3,933

134300|50F hy= 450 450 2 1,080 648
134300 (%6 7 Syt 2,663 2,483 5 2,160 1,080
134300(#6F £=1iA 608 577 0.3 184 146
134400| k< k et 3,661

134400| k= & 1,872 1,872 1 346 292
134400| k< k REAR 1,718 1,718 4 1,620 972
134500| &’ —~< >~ e 5,926

134500|°— < > [SE il 1,260 1,215 0.15 97 65
134500| &’ —~< >~ =y 4,591 4,355 0.13 81 65
135100[ LA T A et 106

135100| WA T A ERE 60 60 2 2,808 2,700
135200(5= et 105

135200(% = r= 29 25 2 3,240 3,024
135300{— % e 793

135300|°— 2 AFb 200 200 2 3,240 972




136100|HA L & ¥ 21,580

136100(AA L & I 17,325 0| 17,325 5 6,048 1,836
136100|HA L & & 2,555 0 2,540 5 4,536 2,096
136200\ %% ¥ 2,200

136200|%inE BRS 1,200 0 1,200 10 6,286 5,270
136600|7z & ¥ 28,564

136600|7- & BE 9,480 9,280 10 2,592 432
136600|7z & =i 5,630 5,630 20 1,858
138100|& L Wizl T3 1,611

138100({& L W /o lF i 1L 424 424 0.1 65 43
138100|& L Wizl wE 1,163 1,163 0.2 248 86
138500(L® LE ¥ 1,188

138500| L& LE K% 1,156 0 755 0.2 127 96




mAEMm R REFEHS (KRS BEBHR
SF5FE48118 (kmR)

LSS ESEfashE: 182 b

(B ILHEREST)
28 os e MR (k) % #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
241260|HE AN A Eoe= 3,800
241260|HE AN A g 3,600 0 3,600 10 1,728 1,404
241260|HE AN A EIRS 200 0 100 10 1,620
241320(/\#A HoEK 3,200
241320(/\#A8 ML 3,200 0 3,200 10 3,456 1,620
242830|.5 LW AT bioese 3,400
2428303 LW AT B 3,400 0 2,940 10 3,240 2,484
243950(U'h bioese 25
243950( U R 25 0 25| 0.25 518 464
246000|L B & boese 7,138
246000({\ 5B & &I 484 0 324 0.25 346 162
246000|L B & &N 1,668 0 1,592 0.27 454 162
246000(\ 5B & BB 484 0 484 0.24 324 194
246000|L B & Rz 1,425 0 1,198 0.25 324 151
246000({\ 5B & e 2,607 0 2,350 0.25 1,437 841
247100| 77— 2 X O |#% 230
247100| 77—/ R A A v ) 215 0 125 9 19,440 7,560
247100| 7 — LR A AV = 16 0 16 8 9,720
2483007 I Eoe= 450
248300781 REA 450 0 450 15 7,128 5,400




